
Multiply by Negative Powers of Ten (J)Find each product.
2 × 10⁻³ = 40 × 10⁻² =
55 × 10⁻² = 90 × 10⁻¹ =
78 × 10⁻¹ = 50 × 10⁻³ =
8 × 10⁻¹ = 91 × 10⁻³ =
43 × 10⁻² = 22 × 10⁻² =
25 × 10⁻¹ = 98 × 10⁻³ =
77 × 10⁻² = 86 × 10⁻² =
3 × 10⁻¹ = 70 × 10⁻¹ =
24 × 10⁻³ = 23 × 10⁻³ =
51 × 10⁻³ = 50 × 10⁻³ =
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Multiply by Negative Powers of Ten (J) AnswersFind each product.
2 × 10⁻³ = 0.002 40 × 10⁻² = 0.4
55 × 10⁻² = 0.55 90 × 10⁻¹ = 9
78 × 10⁻¹ = 7.8 50 × 10⁻³ = 0.05
8 × 10⁻¹ = 0.8 91 × 10⁻³ = 0.091
43 × 10⁻² = 0.43 22 × 10⁻² = 0.22
25 × 10⁻¹ = 2.5 98 × 10⁻³ = 0.098
77 × 10⁻² = 0.77 86 × 10⁻² = 0.86
3 × 10⁻¹ = 0.3 70 × 10⁻¹ = 7
24 × 10⁻³ = 0.024 23 × 10⁻³ = 0.023
51 × 10⁻³ = 0.051 50 × 10⁻³ = 0.05
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